Chemistry 3311-100
Organic Chemistry / Dr. Barney Ellison
Thursda}r: Feb. 10" @ 7:00pm - 9:00/ 1" Exam /Math 100

Name: KEj (please print)

1. (12 pts) Write a correct name for each of the following

compounds.
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2. (8 pts) Draw a structure correctly representing the following:
a) 3-methylpentane
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b) isopropylcyclooctane
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3. (10 pts) In each of the following, choose the bond which fits.

a) shortest C—C bond in:

a) longest C—C bond in:

a) shortest C—C bond in:

a) longest C—H bond in:

a) shortest C—H bond in:

H-CaC-CH-CH, 7}

~

CH,C=C-CH=CH, ]



4. (10 pts) Both pyridine and pyrrole have a lone pair of electrons
on nitrogen, which can be protonated in an acid-base reaction.

Remembering Hiickel's rule, which protonation will be easier?
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5. (10 pts) Although ethyl ether has a substantially higher molecular
weight that ethanol, ethanol has a higher boiling point. Explain.
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6. (10 pts) Predict which of the two indicated C—H bonds in each
of the following compounds would yield a more stable radical upon
homolytic cleguage S—
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7.(10 pts) For each of the following compounds, how many peaks
would you expect to find in the 'H spectrum? What would expect
their splitting and integration to be? How many peaks would you
expect to find in the "C NMR spectrum? What characteristic peaks
would you find in the infrared spectrum?

a) 2-butanone .
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¢}  s-butylamine and f-butylamine
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d) styrene oxide (CH.CHCH,O)
(CH,COCH,)
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and acetophenone
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9. (10 pts) Predict the mass of the parent ion and the major mass

spectral fragments to be expected for each of the following
compounds.

a)  pentanal O B & “ba
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b)  acetophenone (C;H,COCH,)
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